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1. Write your Roll N%;?%n thetop immediately on receipt
of this questio@aper.

¥
2. Answer any 5 questions.

3. All questiofis.carry equal marks, 15 Marks each.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper
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Evaluate the Nehru-Mahalanobis strategy adopfed by

India in the early phase of its development planning

co 1
nclave into an economy C&@ble of sustained growth.
N

$Q\Q (6+9)
$
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A distinguishing feature of the high growth era
(2003-08) was the increase in private corporate
savings. Do you agree? Substantiate your answer.
How crucial is the role of investment in infrastructure,

if India is to sustain a high rate of economic growth

in future? (8+7)
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“A democratic country can hardly want to become
part-California and part Sub-Saharan Africa.” In light
of the above statement explain how India failed to tap
the constructive roles of state and market for its

growth and development? (15)
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Can India reap the benefits of the Demographic
Dividend? Explain. What does the available research
indicate regarding a comparison between China & India
on the relationship between population dynamics and

economic growth? (6+9)
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“Despite India’s impressive economic performande
after the introduction of economic reforms %inwthe
1990s, progress in advancing @e health status of
Indians has been slow and &h@%en”. D6 you agree?

Explain your answer foc%r@%’g on inequities in access

N

to health services in a. (15)
$
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What are the different methodologies adopted by the
in how
Indian government to measure poverty. Explain

; ich has
the process of urban economic growth whi
g urban

ionifi : Il a
brought significant gains to rural as We
ght sig g

poor during the post reform period?
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What do you mean by jobless growth? Explain the
main features of India’s labour market since 1999-

2000 and its impact on job creation. (5+10)
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Compare China’s experience of economic reforms
with India in terms of its impact on economic
growth and growth of total factor productivity in
different sectors. Why did India fail to transform the

lives of people the way China did during last four
decades? (5+10)
s gl o s R wwn At Ay A He T

TAEHA I WD W D T A DT D g

BT,


http://studentsuvidha.com/
http://studentsuvidha.com/

2875 6

mw%wwﬁlﬁgﬁwaﬁ%aﬁwﬁq
%ﬁaaﬁﬁ%ﬁwaﬁw%wwwmﬁ

g Seq A MRS @ @ 7

Download all NOTES and PAPERS at StudentSuvidha.c


http://studentsuvidha.com/
http://studentsuvidha.com/

[This question paper contains 8 printed pages.]

@ Your Ro

Sr. No. of Question Paper : 2904

Unique Paper Code . 12271502 o \\P™

Name of the Paper : Developmen
e g - 1

Name of the Course . B.A. (Hons.) Economics :
CBCS Core

Semester £ N

Duration : 3 Hours Maximum~Marks : 75

g ;3 Hue quites ;75

(5%

Instructions for Candida‘g&\
&6

1. Write your Roll Q@?’on the top immediately on receipt
of this questiafp paper,

2. This paper consists 0f 8 questions.
3. Answer any S.questions.

4. The marks of each question are written alongside the

questions.
5 The use of non-programmable calculators is permitted.

6. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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Tl fore el 3. Aa)Wow would the endogeneity of capital output
- atio modify the neutrality of the Harrod-Domar
1 mm—w%ﬁaﬁﬁwﬁqwﬁuﬁwﬁww ' del? (7
FgH forfe | FROalt
2. TWUFATFH 8 WA ¥ | (b) The economy of Zuhu produces its GNP using
3. el dfe v @ v SRR | capital and labour. The labou'r force is gr-owmg at
2% per year. At the same time, there is labour
4. VAR WA R e WA & ur o e ¥ augmenting technical progress at the rate of 3%
5 ﬁ‘mﬁﬁﬁawaﬁn Hﬂ%@aﬁqﬁré, per year. How fast is the effective labour force
6. Y WET- T T ITR I A1 e, S Sy, T growing?
S il Sy iRy Further, Zuhu saves 20% of its output and the
@ capital stock is perfectly durable and does not
depreciate from year to year. If k(t) =3 at time
1. Discuss the impértant “*¢omponents underlying the t, calculate the value of k(t+1). (2,6)
concept of economie“development. Is gross domestic
product a good proxy for economic development? | (@) o0t IWeA U @ STEHT S-SR Al &
(15) TRl H DY A w7
e foreRTe =t STURIT & HEeqet Heet W =Et WY |
A W I Hw R B R v st i 2 7 (@) g & sefeaen G 3k s @ SwE awE e
SNGAN T IET HE B | w W 9§ 2% W
2. “Authoritarianism is neither necessary nor sufficient T @R WY W, W T 3% o WA T vy
for economic development.” Discuss with examp(llcss). I (e R R R T —— SN

AT ?
“Tffew Rew = v auee 7 @ smwEs 8 3R T &

T 1”7 IS & | w=l &} |
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4. (a) How can income inequality be interpreted in\terms

of long run trends in US and Europe? €))

(b) Discuss the difficulties si@&olved i computing a
poverty line. Y 6
& ©

N
(%) PRe ot TR T A T T e
e A T AL I B I o w2 7
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el

5. The table below provides the income per day for the
6 individuals comprising the population in countries A
and B. Assume that the poverty lines are Rs. 120 per

capita per day in both countries.

\-_-_ o Income per person per day ()

‘[ Person | { Person 2 \ Person 3 Person 4 Person 5 | Person 6
Country A e
150 200
ll L 100 | 200 100 110
| Country B »
90 | w00 | 10 | w0 1 10 LS
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(a) () Calculate the Head Count ratio in both
countries. Would a regressive transfer make

any difference to the head count ratio?
(3)
(ii) Calculate the Income Gap Ratio in both

countries. (3)

(iii) In Country B if Rs. 10 is transferred from
the first to the second individual, how will
that affect the Income Gap Ratio? Explain

your answer. (2)

(b) Discuss briefly the measure of poverty that
considers the aspect of relative deprivation among
the poor. (3)

(c) Calculate the Gini coefficient in both countries A
and B. (4)

@ Al ¥ vosl & B IW X i 6 wfradr <
FEE 7oA A R TR W w120 e =faa wfafg 2

(3= 23 %)
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QA 00 200 100 110 10| 200 ,'
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Explain the role of technical progress in explaining

growth, not as an exogenous black box but stemming

diffusion. How can

from deliberate innovation and _
ductivity

ntribution of the pro
growth?

(10,5)

we calculate the co

of education, skill and training in GDP

q@ﬁwﬁﬁmﬁwﬁaﬁﬁwﬂmﬁ“
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(a) “Economic development is not possible through
uncoordinated individual actions”. In light of this
statement, discuss the role of the State in the

process of development. (6)

(b) Discuss how different market structures in the
provision of complementary government goods

affect the level of corruption and bribes. (9)

() “omnisa =l wEl & W ¥ it Rem e

T2 | W A 5 vy ¥, Rewm 9 vl ¥ osa
i e W= W

(@) ¥ =X B e ww w R o ¥ e
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Using various games to discuss the tragedy of the
commons, explain that a general policy of either

privatization or centralized control does not provid
1de a
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solution to the problem of the overuse of environ
menty

resources.

l
(15)
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1.

N

HWT =T
SECTION - A

(a) Home and Foreign are the only two countries in a

hypothetical world economy and each of them has
only one factor of production labour which can
produce two goods: cloth and wine. Home has
3000 units of labour and Foreign has 6000 units of
labour. In Home one metre of cloth requires 3
hours of labour and one litre of wine production
requires 2 labour hours. In Foreign one metre of
cloth requires 5 hours of labour and one litre of

wine production requires 3 labour hours. World

2943

(&)

(a)

(b)

5

wwﬁﬁwﬁﬁﬁﬁmﬁaﬁmsﬁ?ma‘réﬂ
¥ fr e R T A ol v S SR
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‘A production subsidy is better policy than an
import tariff to address the domestic market
failure.” Explain with the help of suitable diagram.
(6)
A country produces wheat using land and labour
and cloth can be produced using labour and capital.
The supply of land, labor and capital is given and
fixed. Labour can move across two sectors within
the economy. Draw production functions for each
sector, production possibility frontier for this
economy and explain allocation of labour across
two sectors. Assess the impact of an increase in
the relative price of cloth on the allocation of
labor between two sectors and effects on the

distribution of income among the three factors of
production. 9)

P 0.4,
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3. (a) In a 2x2%2 Hecksher-Ohlin model of international

Download all NOTES and PAPERS at StudentSuvidha.com

trade explain the relevance of the one to one
correspondence between the relative price of
goods and relative price of factors. How this
relation relationship determines a correspondence
between relative price of goods and relative factor
s? Explain

)

intensities in the production of two good

with suitable diagrams.

2943

7

(oY With the help of production possibility curve,

isovalue lines and indifference curves explain the

derivation of relative supply (RS). Using relative

demand and relative supply curves show the

e effects for a country from an improvement

(6)

welfar

in the terms of trade.

) s 2% 2 % 2 - S e ¥

4.

EA N AT A SR A T qer e @ 9"
7% ¥ 7o (one to one) TWITRIGT I WEReHTT o]
T Y | OE gaU QA aRel & Seded W Sl &
TEr e N NS WHT TEAAl & W YR Aegedd
FrafRe e € 7 SUged IREl & Y gt |
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T GEl ¥ WNe U 9 Ugesh St e S SReT
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(a) The demand and supply curves for kiwifruits for

Home and Foreign (asterisked) are given by :

;2 iy o
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Demand and supply curves (7)), TRT sk Ty @ forg Fd wer & o A R 9
Dot ‘.
D =200-4p aﬁ‘g{ﬁﬁﬁﬁ‘?m%
Home
S=80+p
AT 3R gl dsh
Foreign D"=250-3p D =200 - 4P
S* =150 2P LS LR S=80+P
(i) Under free t&:\\@ between Home and R D*=250—3§
Foreign fin @e world equilibrium price of S* =150+ 2
kiwifrui pattérn, of trade.
,_ @Q (i) ¥RW IR TR & AT o AR & Fed foat

(i1) Calc. - te jahe et welfare effect of a R e 3 %

specific tariff“at the rate of 2 per unit on ¥ @9 & ” LS
Thel Yol =i

the import of kiwifruit imposed by Home. - S D B U !

(iii) Beginning from part (i) calculate the net (i) Emer & I W W g ST MW W
welfare effect of a specific export subsidy THE F W A U [ TIeh & [& Hedo
at the rate of 2 per unit on the export of T T Y

kiwifruit imposed by Foreign. .
(i) S (5) ¥ & e qw I R 7w Al D
Prafa o 2 WY T o w0 e Rfre Bl

(iv) Calculate the rate of prohibitive specific
tariff at which Home’s import demand

becomes Zzero. (3,3,3.3)

Eodl
; ‘Optimum tariff’ and
Show the difference between . _ |
® prohibitive tariff’ in terms of their effect on (iv) e Rl mew <t 98 ® o e = R
; W wEew A -
national welfare. (3) Rl o g o = B T
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5. Write short notes :
(a) Effective rate of protection

(b) Comparative advantage i&lntertemporal trade

\\Q
(c¢) Leontief Paradox &5
Q’Z)-

A
S
() ERET i W@

(5,5,5)

Hﬂ%@“ﬂﬁﬁ:

(@) Iaaliors AMR § o @

() ferifew frtemma

HAN@T—-d

SECTION - B

f DD-AA and XX schedules explain
0 ) -
’ and fiscal interventions

6. (a) With the hel

the effects of monetary

both tem 9)

current account.
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Write short notes :

(1) Interest parity condition

(i) Financial Trilemma

(iif) Liquidity trap in DD-AA model (5,5,5)
G oot ford

(i) =as wo=ar =) o
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(a) Let the demand function 3Y =

100 — P and cost
function Cly) =

2y. Contrast the profit maximizing
monopolist, an output maximizing monopolist, and
révenue maximizing monopolist. Which is the best
description of the public sector? (7)

(b) Explain the decentralization theorem in context of
welfare gains from multiple fiscal units\How do
individuals vote by their feet? (8)

\\Q

() = & Wi waw 3&%100_1—) QRS —
C(y) =2y 1 1% QP 9 e, e
SIBERiE ey THIRERR, 3T TS s
A ATl THRIURY T W1 Y | w8 w5
T It e W o @7

(@) =3 o T ¥ e 9 e o @ geef X
ﬁﬁﬁwnﬁﬁmﬁ:wﬁﬁaﬁﬁﬁm
Y TYHT F 8 7

2. (@)"In a competitive economy v'vith complete
information and zero transaction costs, the
allocation of resources will be efficient and
invariant with respect to legal rules of entitlement.”
Explain this statement given by Coase with

ference to complete information and bargaining.
re

(10)
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(b) What are the concerns raised by Surajit Das
regarding the goods and services tax? (5)

() "Wqﬁwﬁmﬁ@mﬁ?@:ﬂ:
W%W,WWWW%W
3 Gy ¥ e 3N FOREEAG B | ST T FE
%W%mmﬁ?”iﬁwaﬁ‘?ﬁm%

da ¥ P g BT T T FIA A

' RiEl|
() “aﬁaqﬁ%ﬁaﬁ%aﬁ%aj&ammwﬁ
e = 2 7
. 2 £
3. (a) Discuss the determination of optimal provision (?
| public good and the assignment of tax shares 1811
the context of Lindahl — Johansen model. (8)

(b) There is a large number of commu.ters who dect;lde;
to use either their car or the tra%n. Assume tha
commuting by train takes 70 minutes whate\‘/er
the number of commuters taking the train.
Commuting time by car C(x) = 20 + 60x, Where
x is the proportion of commuters taking their car,
0=xx=sl, (7)

(i) What is the proportion of commuters who
will take their car if everyone is taking her
decision freely and independently so as to
minimize her own commuting time?

P.T.O.
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(ii) What is the proportion of car users that

minimizes the total commuting time?

(iii) Compare your answer of ii with answer in
part 1 above. Interpret the difference. How

large is the deadweight loss from .theé

externality?

(31) foieEw - SEraa dise & L ¥ dduHe awg @
wmmaﬂtmﬂug(@ﬁuﬁwwaﬂ?aﬁn

&
() @Wﬁﬁ%@@%wmaﬁmmﬂm
1 A FR T AR S, R 3 TR S ¥
1 70 fie o w9 den @ R w )
FR BN T aErERE C(x) = 20 + 60x B, W x
FTN HR A oSO B, 0<x<1)

(i) B &1 sau W@ E W A FR A oA A
W RS I Fiofr w@ea 3R S ¥ o
2 qiftr T8 S AT WHA ) GAGH R ER

(i) R ITARTERATSH 1 AT I B S He A

T H AT Fl B 7

(iii) | @ SR D W i e IeR A g A
SR & mrE WY | WEE % e || MR

TFFHAH g1 2 7 .
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4.

3.

(a) How the budget setting process and corruption
are the source of the excessive public sector

expenditure? (8)

(b) Analyze the effect of earned income tax credit on
hours worked and labour force participation for

low income individuals. (7)

(3) wic AT wRrar R TR FH AR FET T
Ar D T ® A B 7

(=) 3T T AR W AN A R BT w HE
2 A 3k s 9 AEle W W @ Rmeer Y

(a) Critically examine the solution of externality when
both economic participants generate positive

production externality. (7)

(b) Derive the equilibrium in probabilities of evasion

and audit in the ‘tax compliance game’. (8)

(3r) STEIET S WATEA ST e S e 2
WWWWWWW%'

(&) ‘O I @ ¥ 99 sk oar H T
fufy A Fgee 7w W
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6. (a) How probability of detection and fipe rate effe,,
$

the tax evasion decision of individualg9 (ig
)

(b) Explain matching open-ended and matching Closeq.
ended intergovernmental grants. (5)

(3r) wEd S FAE SR A AR D g e
hEel @ B T A B 7

(@) G Fwe & Fram R 9T Fawd e a g
WHA S T ARAT T |

7. (a) Describe the organization of «smultilevel Fiscal
system in India. Briefly diSeuss the Tax and

Expenditure assggi&nents and intergovernmental

transfers in Ind¥a. (8)
&

(b) Explain th% conceptof deadweight loss of tax and

show the deadweight loss on both producer and

consumer-in the case of product tax. (7)

(37) e ¥ wgwdm B womeh & dee & U B
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